g -

J j -
Section 4.7 Precalculus Name Q,\\

Worksheet #2 Period V

1. Fill in the chart using interval notation.

Function Domain Range

y=sin"x l‘;-l, lj rTr/a r”/a—\

y=cos Tz -0 Co, w1\
y=tan_1x ("’ =) @()) _ L Tr/:l] TF/Q
y=cscx (-OO,-i‘\ U LDQ) Tr/é? &U (OW/QR
y=sec ' x (*oq -1\ UT_'J,OO) [O W/as @) (Tr/a /ﬂ
y=cot 'x C’ OQ, OQ) (0 TT)

2. Find the exact value of each expression. losk on  Next ?m\-. o0 arke

U TR—— ) . B S
A) sinT'(1) = /& B) arctan[~—3—] = ‘T/(d )] arcqos(——z—] T/(o

D) sec L £] =+ E)tan” tan%) = -ﬁ/ L F) csc[tan_l(—3):| = ‘26-
Sec;('ﬂ 4o -;,...'s_ = Bl
\/— ﬁr : N | ' .1 x Vo-x2%=
G) cot [—7] :—';- H) sm[cos ]x] ‘,_ X& 1) cot{sm (Zﬂ J =

J) sin” [sm 3 } = "Tr/'f) K) sec*l[%\@} Qr Cn;'f% L) cos_l[sin-l—lﬁ} = JT 3
: 'Sﬂ‘/(a cod' ()

3. True or False:
A) The domain of y=cos ‘x is 0<x<z. False rc\nr,
B) sin(sin_10)=0 and cos(cos"1 O)=0 /\ATLLL

. 117z T A
C) sin” {sm[ . ]}——-6— \ [ rue

4. Use a calculator to approximate the value of the expression in radians. Round your
answers to the nearest thousandth.

A. arctan(—12) B. sin™'(-0.2345) C. cot™'(-2.3) D. arccos(- 2) ;
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